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1 X X X 0   (clear assíncrono) 

0 ↑ 0 0 Qk   (mantém) 

0 ↑ 0 1 0   (reset) 

0 ↑ 1 0 1   (set) 

0 ↑ 1 1 (Qk)’   (troca) 

 

Tabela de Excitação do ff. JK

Qk → Qk+1 J K Obs.

0 → 0 0 X mantém ou reset

0 → 1 1 X troca ou set

1 → 0 X 1 troca ou reset

1 → 1 X 0 mantém ou set
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Qk → Qk+1 J K Obs.

0 → 0 0 X mantém ou reset

0 → 1 1 X troca ou set

1 → 0 X 1 troca ou reset

1 → 1 X 0 mantém ou set
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1 X X 0   (clear assíncrono) 

0 ↑ 0 Qk   (mantém) 

0 ↑ 1 (Qk)’   (troca) 

Tabela de Excitação do ff. T

Qk → Qk+1 T Obs.

0 → 0 0 mantém

0 → 1 1 troca

1 → 0 1 troca

1 → 1 0 mantém
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Qk → Qk+1 T Obs.

0 → 0 0 mantém

0 → 1 1 troca

1 → 0 1 troca

1 → 1 0 mantém
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